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TRIAL HIGHER SCHOOL CERTIFICATE
EXAMINATION 2014

MATHEMATICS

General Instructions: Total Marks 100
- Reading Time: 5 minutes. Section I: 10 marks
Working Time: 3 hours. * Attempt Question 1 — 10.
* Write in black pen. * Answer on the Multiple Choice

answer sheet provided.

" Board approved calculators & templates may be used § © Allow about 15 minutes for this
section.

- A Standard Integral Sheet is provided.
Section IT: 90 Marks

' In Question 11 - 16, show all relevant mathematical § * Aftempt Question 11 - 16
reasoning and/or calculations.
* Marks may not be awarded for careless or badly " Answer on lined paper provided. Start
arranged working. a new page for each new question.
* Allow about 2 hours & 45 minutes for
this section.

The answers to all questions are to be returned in separate stapled bundles clearly
labelled Question 11, Question 12, etc. Each question must show your Candidate
Number.



Section I 10 marks

Attempt Questions 1-10

Use the multiple-choice answer sheet for Questions 1-10.

Q1.
A B
EE
c Uy

In the figure above AD =4, AB =3 and CD = 9. What is the area of triangle AEC?

A] 18 B] 135 C] 9 D] 45

Q2. » is an integer chosen at random from the set {5,7,9, 11}
p is chosen at random from the set {2, 6, 10, 14, 18}
What is the probability that n + p = 237

A]0'1 B] 0-2 C]25 D] 0-3

Q3. A yacht is sailed from A to B on a bearing of 196°T.
To sail from B directly back to A the bearing would be:

A] 074°T B] 196°T C] 164°T D] 016°T

Q4. After it is dropped a certain ball always bounces back to % of the height of its previous

bounce. After the first bounce it reaches a height of 125 cms. How high (in cms) will it reach
after its fourth bounce?
A] 20 Bl 15 C] 8 D]5



Q5. If3x+y=19,and x + 3y =1.

Find the value of 2x + 2y
A] 20 B] 10 C}l 11 D] 18
Q6.
A p-B
D »E
(figure not to scale)

AB and DE are parallel. Angle BAC = 30°, angle CDE = 50°. What is the size of angle ACD?

A]100° B]90° C] 80° D] 70°

Q7.Ify = In(Inx) then =X is :

1 1 x 1
AlZ B] i € Dl
Q8. Evaluate fos xg dx:

A]2v5 B] V5 C]5v5 D] 10v5
09. Find the value of lim ==

pey2 X2
A]12 B] 4 C] o D] -4

Q10. If f{x) = ;—}i—;then Flx) is:

A] cotZx B] tanZx C] sec?2x D] 2sec?2x



Section L

Q11. START A NEW PAGE 15 marks
(a) Show that A(a,25), B(2a,b) and C(-a, 4b) are collinear. 2
@ IFFG) = f’; J:i For x>0 evaluate 2) +/(0) +1-2). 2

(¢) The amount, A grams, of a radioactive element remaining after ¢ years is given by
the rule A = 450(37%).

(1) What is the initial amount of radioactive material? 1
(i) Determine when the amount will reach 50g. 1

(d) The points A (0,0), B(4,3), C(0,6) and D(x,y) are the vertices of a rhombus
ABCD respectively.

(1) Find the coordinates of D. 2

(i) Can the thombus ABCD form a square? Give reasons. 2

(e (1) Find the locus of a point P which moves such that its distance from the

point A(7, 2) is twice its distance from the point B(-2, -1). 3
(i1) Describe the locus geometrically. 2

Qi2. START A NEW PAGE 15 marks
(a) Solve: :::: =125 3

(b) Find in terms of » and & the length of a chord in a circle of radius #, if the chord
subtends an angle of & degrees at the centre of the circle, 2

(¢) Find the equation of the curve which passes through the point (4, 1) and
has a gradient function of 2x +5. 2



(d) (i) Show that the equation of the tangent to the curve y = -2sinx at the point

x=§isy=——\/§x+ Esﬂ—l 3

(ii) Neatly graph the curve y= -2sinx and the tangent from part () for0 <x <mw 2

(iii) Find the exact area between the tangent and the curve from x *“—1; to x= g 3

Q13. START A NEW PAGE 15 marks

(a) Linda measures the angle of elevation to the top of a mountain to be 25°. She walks
800m horizontally towards the mountain and finds that the angle of elevation has doubled.

(i) Draw a neat diagram and show all of the given data. 1

(i1) What is the height of the mountain to the nearest metre? Giving reasons. 3

(b) Prove that (1 —cos@)(1 + sec8) =sinftan8d 2
et

(¢) Water is flowing into a container at the rate of litres per second. Initially the

et+1
container 1s empty.

(i) Find the volume of water in the container at time ¢, 2

(i) How much water is in the container after In(31) seconds? (Write your answer

in exact form). 2
(d) (i) Prove that AABC is similiar to AAED. 3
D
(Not drawn to scale) G
47° U 4
= c A

(ii) If AC = 2 units and DA = 6 units, prove that AE = 3AB. 2



Q14. START A NEW PAGE 15 marks

(a) Prove that x? — 2x + 2 > 0 for all values of x. 2

(b) Evaluate Y'2%,(2n — 6) 3
e e _2x-1

(¢) Find £(2) if fx) = 272, 3

(d) This diagram shows the graph of y =f (x). Use a ruler to make a neat copy of
this graph and on the same diagram neatly sketch y = f'(x) and y = f{x), given
that f'(0) = a where a > 0, clearly labeling each graph. 4

Y

N

7

(e) ABCD is a square and ABX is an equilateral triangle standing on the side AB,
as shown below. Copy this diagram neatly onto your answer booklet and 3
prove that ZAXC = 3 «BXC.

X




Q15. START A NEW PAGE 15 marks

(a) Two dice are thrown.

(i) Draw a neat diagram to clearly illustrate all possible outcomes. 1
What is the probability of throwing:

(ii) a double? 1

(iii) a total less than eight? 1

(b) Using the Trapezoidal Rule with 3 Functional values find an approximation
to f 02 sinxdx correct to three significant figures. 3

(¢) Find the area of the minor segment in a circle with radius 6.2cm and subtending
an angle of 135 degrees at the centre. (Give your answer correct to 1 dec. pl) 2

(d) A rectangular crate is required to have a volume of 24 cubic metres and its length
is to be double its width. The crate is to be strengthened by a strip of angle iron
running along all of its edges. Find the dimensions of the crate if the total length

of angle iron is to be a minimum. 5
(e) Neatly graph y = — V16 — x2 2
Q16. START A NEW PAGE 15 marks

(a) The velocity in m/s of a particle travelling in a straight line is given by
v= 4¢3 — 6t where ¢ is the time taken in seconds. If the particle is initially
4m to the left of the origin find in terms of #:

(i) an expression for the displacement x m. 2
(ii) an expression for the acceleration a m/s?. 1
(iii) When is the particle at the origin? 2

PTO for Q15(b)



(b) Mitchell invests $50 on the 1% of every month starting from January 2003 into a
Superannuation Fund. Interest is paid at the rate of 5% p.a. compounded monthly.

(i) Show that his investment is worth § 85 923.96 by the end of 20447 3

(ii) Mitchell’s employer pays 9% of his monthly income into the same fund for
the same amount of time. If Mitchell earns $43 000 p.a. how much is his
fund worth in total at the end of 20447 2

(iii) Assuming that Mitchell and his boss pay as stated in parts (i) and (ii) calculate
the value of Mitchell’s fund at the end of 2044 if the interest rate increases
to 6% at the beginning of 2020. 3

(iv) Using the information from part (ii) and using the original interest rate only,
find the amount that Mitchell must invest each month if he wishes to have a
superannuation fund value of $1 000 000 in total. 2

END OF PAPER




O

- MATHEMATICS: Question.. \...
_Suggested Solutions | Marks Awarded Marker’s Comments
© Ao o ot € (a0 e b fR
™A | ) (Q‘M b> C “ L*.\Q) e A LSy oo \:m:ML
Aty = Dlg-Ay = - 34 : ' =
. m S e ‘3""’.’»&1\@4&‘&5 v ed *—‘L"\M\ 3*:\«5&\&;&
| . _ e Loime Ve )
R 3
- - Ay —-a
G EW SPL oh AR = [APSP . a5 B
LR, ad & are toltineany
Simd f&fﬁ\a’ue,u& ot an Lv“—g\"’>
tﬂ"\o\ So_,; VA L M\\m\—xbw e O
T)&‘\I\‘X‘ . (\‘3__\1\ =M L‘:,‘fnm'DC‘B
Fen subeldole o poiwt  andd
See N W otey D v
(‘9) &L‘x) - 1wt £ XZO 2 wmave g,
.-f):. % S x Lo 7/ “t""\ﬁs’““\%_
. $£42) Lo
2y 4 () a:$ (~2) LD/ )
. Smgh (_"'z)
Ce e D (-3
= 2 o 2
D A=t 0(>D ’
>0 ( ) @) Vel | Lo L. aek L
whme A= o '
e e S VEREN N
A= Wst X3 w *‘\—S
nE WS A T B
wiadioN  sowroa e L.g0 :j
() when &= se C@d Vrek
I T
S 2 ks é—ﬁ )
5 3
~2 - .-b
3 = -S
e = 2

T4 u,;f\\ll_ Sl L Nesv g

I:\Maths\Suggested Mk solns template:doc




&

MATHEMATICS: Question.....\)

e = b3 .3
= 4 h
Pr‘;:::a\k.'\c/‘\*‘ o< ﬂmpci_\e»écﬁ A ,\,&% 'M"Ec
=2 3. *E
' Y Y-
= =4
1.
“":tDu' '\,.\V\:e..,

N b ibe-vf?@_uo\\'m\ s

(\L\L—*& t\h\ $c‘:‘(\&_€.\u‘ e) ‘v\ m\v&}" M BC.; h—‘

: _Suggested Solutions Marks Awarded | “Marker’s Comments
A ~-- , »
A 0D ¢ Lee {o)g&-,)
- Q“f"
- ,;Z_ [ST-AVLEX N |
| PR B 3
4 =l |
- . wmrﬂx\‘ﬂﬁ-«‘i& X <
—ip A G T Py .
(6,5 : B
s ) -ﬁcsz\o"\ be
o &, 2> 2=
hw\(:m“\' £ AL s CO"?) AU Y e e
cnmd  wtiek [:b'z:mu;k c::Q B ng CO) 3) By ot con ¢-:j o
i - 1. A
'L\’--%'}‘_ - & vk \:343 - 3 %\M\\oﬁ"\‘-j (L’\')‘ 3\(“_
— T S ey ey .
T AT 3 v g, wmerh S
\ oM S &.c./ wi
L e [‘-—Lt-)‘""?;) f- -ce.m 4 1cx .
e b Uy 3
xg}v\” \Jc:v\\.pﬁz =3—Q \3
" e\ solelhdoteed e
. Vedoe Ao o,
e Tt = 3R . !
D Ve -2 72 2 s |t b
Cl\\ ez e M tne 4"6
A 4

squeve PN
_ @i\e\‘avg 5753_

M ak«»&] QEV\IS e

{S’%e_,_

e -Q*C.i“’ Ve

cmvw\c-ﬁ'\‘ loe |

e A *'\9—\“%- ‘

“'\'\nej_ C it i:._n{‘::v

JAMaths\Suggested Mk solns template.doc

5

3 L -\ o o ™ -
BTN A . .f:st: e Weve, Gl wairs b away &,
P e ek e Loy Ve g
v Vhowlouns camvmish be G S gave
: - —




: 7
- MATHEMATICS: Question..\... &
Suggested. Solutions. ' Marks Awarded |  Marker’s Comments
- 2
v , i - 2 3
G0+ by-2>" = Lﬁ-[L_fﬁJ"&' 2y (;:1*\) ] -
o =M e A j‘i ‘\j_“i- = b o %06 + l{-jL-t ‘%kjﬂ[_
T ¥ BO *%ip‘-H'L -B3 = o
T T U NP
i A weanvieg,

L)C'?—-.‘_ > x &'3\_35.4&5? t{.j .\.-L\)
@.—rs‘) > ~r L:y&'),) =

L e Vo cas e, Nz M.,
w1 W cedug [ —-g/-z>
vaskvn A Mo w Lty

@) -,Qz"ﬂ'c\mx,, - \314{, LE: o

#

-_—L{.(f_-,

WA RSy

2

waiks |

JTAMaths\Suggested Mk solns‘témpl;;te.dojc




MATHEMATICS: Question.. {2, pege !

_ Suggested Solutions Marks Marker’s Comments
0 =
:3 o iy C;B . ’ oottty o ” 7 ‘/
e S————— o |

qar{a—%‘{aw—&d 5" i

P e i y
P —— |
4

S o ST IN
N if o - AN s 1 8 -—Rr- cosE

[ note ettar cprrectapss

el O T 5 A RO 0SE) o Medod | and & wire
A r / ac’cf er;—-%'}aﬁé - Vv rreos tesmrmpn lugwns
\\\...// - S Cor\d have, dlso uged

)

Sinefoule

S MWN%.W&} : ,.s?n!l?s‘dlﬁ“ - 2 s
A Ko S5 peetPr s et alcbomd?

' \

AN > Sin. 8. = AC
n AL =. cSin 6
>
........ ST - 3 - B o e =
it {ans M"””““"n—j—

MW%M&M =S : ‘
@ e "% povembersasasepes s MHN"I ﬁf-udeﬂ'l‘s usad

4 4 7 - . _ chf..—-i‘ﬂ er--‘?fr
F A e | | g )G

o - " e exte
st R =W SR R 4
s e N
) ) \/ bem,uf)e, f‘l‘ [o 'Y Oi’l:’
S 72T .é-f:.,(iurua iz Lj’:'xb"'gxugg b@ use_d 'Qr S'J-ratc ht
W —c
Py T, g Uz ABi
. P 0] 2 »b

Uil = -9::.————- _ .
ey ”::mmm Nz 3""" et

CEOSEREEPTIETIIY

2 A | V]
v Cqm,g,,& mrgg k...t ,,%—E, et v

WCALLISTOVStaffHom eS\WOHURAH 1\)3 Fac Admin\Assesgmient ;nf9_1§_u ggested Mk solns template_V4.doc
Y ﬂ B \IB o \33'”'—___ i
&




MATHEMATICS: Question... k2~ poge 2 .
Suggested Solutions Marks Marker’s Comments

| fpe st cwrve] T

i
E

it e crre e dovenin OLpe LT
| : ‘\q o — jﬂ STt s Needed to laloed l
i@w N % ) / } . , e MPC‘»‘I':Q{'S & papa vedge .

[. ..Fcr'- -f-amae,y‘ul' )\[

i
\\ S | domarn © € XL
A o Many shudeats did
e Ies—— pob exlend Hra o
FREGIRIA - - o —— . —— Do o Onole clowauin-
% -
o &
G A= " ( ':as:n:r.-%r»x, \r"t; ~}-—l\ d.‘).« . .
b olet 5
) K. I - Note)
IE—— g ) [ T R e
= [peesre Badagmata ~ ;
= el 23 3T ~4 937 dhen
kb N SR T i, w5 J"ﬂ— =T +T)) 3 5
. RSSSRSRNOON: J TS ——"= __3[-5/6/ | o
: FE U
. BT, m%)m(ﬁwmﬁx e Y Jou __
_ R4 Fsnamossimin 2 é/.. ' |, Tre answen as
; : o
iy I R O
-?—[;‘\fng £ .}___T V \ L»Ml:‘[’S l/x'/ 1+ 5,“6“"5{5 15 Ged
Nl 2 .
WCALLISTO\StaffHom eS\WOHURAH M Fac Admin\Assessment info\Suggested Mk soins template_V4.doc




B MATHEMATICS: Question. ..., L
| Suggested Solutions | Marks Awarded Marker’s Comments
g F Ve e S\ooo B vin
LS
SD@-.

Ak

[() ) nes =136 (atpw

cxw‘i’s\&é‘n iy

o é,%m\ﬁm e arée
T &
So LNDB = 25 Loﬁ’ﬂ\e. AN Py -Q‘C,
S A ABD S \i‘;ﬁé)
) =] = BO0 ., eﬂv«a\ ges avel

N O

e Q\V\A\V\g
DB

v VRS S

W=bl3

HMosh  slalede

a0
s
ooy bl ey AR

PN

& .

J\Maths\Suggested Mk solns template.doc




=)

MATHEMATICS: Question..} 2.
Suggested Solutions ' Marks Awarded Narier's Comments
D Las = (vwtws e ) (L See 0 ) e
' : A sz les,
= L See g ~loss — A
A . o
= : Cog @— l Mg v
- s & y |
] e
= 1
f - bes & 6&():1\-‘5&\\'3
Ceps (e
‘ ]
= Gin & | e
Case @ Pm‘%
bt SrwD . Q\w@" Lisg = WS
Sk
Les o- ws
LOI-“/&::_}\ )
= THanl & i on, (B wgv\c‘;vj
C gy - &f
e (’3"& 4 L R PPPL LS
¥ o= ta (e‘ﬁ;lﬂ) §e L
s .r\"a"\"\c\\\j V= O
CF-’."" 1 (l‘) -
., e = T INL -
Vo (&‘“""HS b L
Y]
(Y owen =03
" ; \‘,.{3_ -—\w\ﬂ)_ r) s
Vr\w'\(& ‘““"3 - 0 owmavesy
< 1-‘\ 32" ~ 1‘
Vi, i
N TS e

JAMathsiSuggested Mk solns teinplate.doc




MATHEMATICS: Questiﬂn.-.i:é.

&

_Marks Awarded

y B ’Sug. :‘g“esfed:Soh_ltions

AL

EDA =4l (enqle sve o AADE
N \;{D") 7
T A S ADE  ana AL
o

Cks Wk e O -

G DA e (oo a’) o

C A ABC Il ARED (ﬁﬂ;f“*"ﬁ"“”;

3 A V"—S

A PRSO VY
ales

o2 enae

e m\j-u leyr

, e | v e s i tne
Y [ Al . ...S \
B A= .s‘v‘qv\is\:&g o ABS
ongh Ia A& afd"
_ v Lo wt B O
Ky
5, = AB
s o
[ N -
2 AN
= = AD Cy & O
LAE TR &

v reasom

v RV

Cesan e

Lozerend

"‘?'una je-\.;.-}\é

aSS«iw

w2 Ao vi»-‘f_x

S1 wak Loy 1

[

Marker’s Comments

J:\Maths\Suggested Mk solns template.doc




MATHEMATICS Extension 2: Question........

___ Sugpested Solutions

Marks Awarded

Marker’s Comments

b elee = ()= 4000
=

. &) &7, . the Twilion concomes up —

— O

{ O

L X -1xt) 20 L\&j no Solwlion

=

- Wt )
> Gy |

CoXE)y 1) YO F{)‘(’ all VOL[WLS o5

Sine. (L=1Y Z O
OG-yt 7|

>0

Daed, den | weny

—
e
1

)+ (-0
Gl
Ly

i)

Su @ ’}%‘(1 + LI'LFI)' :_‘ 506

TA\Maths\Suggested Mk solns template.doc




MATHEMATICS Extension 2: Question........

|

') = (x4, 2 - (2 -1). |

Oy

- 3y

(0

]

P

of

@ ”%%{“ Tanj
poaf o ey

:D foe ol For
fixy -

:D for Cortect
Shapt of F(x.)

@ oy 10124

‘ Suggested Solutions ‘Marks Awarded. Marker’s; Comments
P Lo~ | ’
L xX) =
R

- F\Maths\Suggested Mk solns template.doc




MATHEMATI’CS .Exfension 2: Question ........

Slggg_st.ed Solutions Marks Awarded

ppyted) |
£ 4 .:§° (\r&{ }

Y

Marker’s Comments

Taths\Suggested Mk solns template.doc




MATHEMATICS Extension 1 : Question

nnnnnnnn

Suggested Solations

Marks Awarded

Marker’s Comments

N
D
ATy
1‘n..-
p %
Consfd X |
AR = R (sids of Sguirys an Q,pml)

AB =8X (51'0{13 of g o) ﬁ‘i‘h@u R ?-.Zm]-)

SoBY TR

LAY s Tswudo (2 el side)

L XBL=9p° (‘G@M of Sqpos - dfe. Flo-“)

L XBA= 0" (19 of eguilatusl fiagls o 60°)

LXBC: Qo4 b’ 7 ISO°

LYXC = LBOK (ol st g appsts i o
agler 07 Tolg %@Jm)

‘,..' LBYC =~ ‘8/0 - LS’O\ - IS’“ (ﬂ@\& Jun c'f Q\BX(
2 eyl (30"

LA‘X@ = 6’00(6&ka on sz/(fw] ﬁ@hl P (y*’) '

L AXC LAXE - BxC
- 60° . U,»
s g

L LAXC s 3 LRYC.

: E\j ?\aerlxzeL eplapalia;

Jost oboet all i |
gt Fhe %.[1 hachs
Fias mwﬂ matks
dedled

L\f&j ﬁﬂd\&} Wz‘b %9% or
fo” ...

qﬁ#‘fiﬂ,

gcj;ml, Ry iy

J\Maths\Suggested Mk solns template.doc:




O™

MJA'I‘HEMATICS: Question.. | >

Pz

QX « |

Q) P )F , S'uggested'sauﬁons Marks Marker’s Comments
5 - -
(x’_.. ’ . - | .l
ot | VA ; -
q; ,/ Il ’a \: A/ % e
t Py St S SE SRR SR f
ST S DA - T
——— PR

@g P ( doubl e\

3
Y

'jE,,,,,m Slax.da oo KLl ) +gﬁ%m)¢f@)mm

ok -(m\ £2L0)x FhIH

PO NN R

L adeliges

; ey 2 TS YR
©

'07% ‘125

/ oA .. . q:__ ) "
S HmY
\ N} , A‘;*,——r f@"Sm@ .
n’\‘rﬂ'i’f; c\‘ s inperinigrFy = Jﬁ}téaa" (/._E.T:!L‘ S‘n"”_'_) .

ey ;&. {o-+ asm(mfamc.)) ............... :

= ,ﬁ‘*‘sf X. é:'&, x(l fC:‘I:CI,) N
i B
FIOTAYREREIEE - —gip 7 CJ:?;:Z— C{ d‘p.) 2

| Need 4o 5& mdtcmb

Mang swﬂn‘éf meed
revise 497 ’Q‘:’m{;% s

WCALLISTO\StaffHomeSYWOHURAH M Fac Admin\Assessment info\Suggested Mk solns template_V4.doc




MATHEMATICS: Question../2.. p2g> >

Suggested Solutions

Marks

Marker.’s Copments

NSS4 N - . — :
().l Ll Nz 2h = 20D ;
- ; : b, = Q& i
gal /fn Ao ,
, o= 12 ;
A —— \/ :
.= 4><CZ:L+ 4—x2c:+4—>ch
- Sx_ + ZL—’X_ + 4 /i:z_\ \/ t
‘_ = ‘ |
ik NG AR
- o ?
9!__ = 18 g =Py "
X3 |
oo ble mm;c'/'m‘n u)kg_n QLL =0
I A 5
Te. (=~ Gl =6 :
waoryy Z Y‘z" . i
............ c((o = {2 —~ %(“J
¥ ANRIIEANRI AR ‘Va * L ‘
- =8
y o T ‘/ f
dL‘L 3987‘ T veotson
- DR PR s AN IO o T T |
s 2K AI‘L = ,;,;,8' R N
)
A, uuP " mindalue. :
M P Mammu.m [-eﬂv\qu'\- oc.cws" u.:Lu_ -;c,,_z \/
. - Og.mansm.q;' Are. ) . bu Ucvm bq:s-n . :
- LT g4 _ | e et 5%‘“0’”
i B ' |
— - /| o ot fabeled]
N\ 4
—I
trreenp oA A ‘ M\/a;n\!_.'.' prescs vy ARELLE

WCALLISTO\StaffHomeS\WOHURAH M Fac Admin\Assessmentinfo\Suggested Mk solns template_V4.dec




MATHEMATICS Extension 1 : Question........

_Suggested Solutions Marks Awarded

Marker’s Comments

6 ) ve y - gt
A -t

X = S 4t -6t dt

S AL 0
Mhen txo , X=2-Y
Y (0)T- 3(0) +C
C= -4
X At -y 4 @
i) V=4t - bt

o= dv

m—

ax

=t -4 (D

_Eé‘)—{? Xz0=> 1° -3t -4 :Q
'(‘ﬁ1~—-'¥kjttt*l):0 @

'Ciibf or —| -
S € 70, Tzl e et a sl |

t=-1), Snae tZzo

| t=9 @

I -:\Maths\SUg_gc;_ted Mk‘;solné teimplate.doe -




MATHEMATICS: Question. .. ... ..

Suggested Solutions

“Marker's Comments

6. 1)) et I& be the amowT in The inesthent
affen n months .

LY ears = 504 nonthy -
5 % :p A2 —j:lf[% P’(’J hﬂu./\_H\
T - A e 28
1, =50 oy

1)
Lo

1,

)

+ 5o U.‘t‘,)

a3 }]

=50~ Lw\:) +50*L

' T 50 (_).-\w\
NG| “(,)M AL

_ < w\ lln oY

+50-()"

'h"ﬂ

$%591% . 96
1} 3 43000 P&

0.09 * HBood | 4 3y
T | $ YL-SO
Tofal = ($33:2.50 +50) [1;}0 [y -] ‘\
| Lom)

B

e

4 (4033 .S

e

SJMQ.\T | oiT mal ks
7[‘65;' inineﬁigTef{'lT Wt

| )
ol

| E.'ﬁ' deaded To Tk 450
| twa») ot fe ¢d T

Twn T Swm I 73\2
-RFUJuﬂc}\ err')'w'n'i LJL@A

Q@/}ty‘ E/U#"(“:j ‘CLIG,S

| il indiate o e

Tﬁ f/!,o S8,

WCALLISTO\StaffHom e$\WOHURAH M Fac Admin\Assessment info\Suggested Mk solns template_V2.doc
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